

Lead • Partner • Innovate • Excel

February 2, 2024

To: Vendors for Cafeteria Paper IFB 23-12-002

RE: Bid Results

The following bid analysis sheets show the prices that were bid for Cafeteria Paper for Madison-Oneida BOCES and its participating districts. This bid was awarded on a line by line basis as highlighted in green. Items in red have been disqualified.

This bid was approved by the Madison-Oneida BOCES Board of Education at their regular monthly meeting on February 1, 2024.

This letter does not constitute an order. Receipt of a valid school district purchase order will be notification of an order.

Thank you for your continued support and participation in our bidding program.

Sincerely,

Madison-Oneida BOCES Cooperative Bidding Service

Chui Spratie

# Bids Were Received From the Following Vendors For Cafeteria Paper IFB 23-12-002:

# Hill & Markes, LLC

Attention: Yvonne Masi 1997 State Highway Route 5S Amsterdam, NY 12010 Phone: 518-842-2410 Fax: 518-842-1207

Email: <u>info@hillnmarkes.com</u> Website: <u>www.hillnmarkes.com</u>

Details: Please Reference Madison-Oneida BOCES IFB 23-12-002 on Purchase Order

Vendor Delivers To: All Districts

# **Pyramid School Products**

Attention: Kenneth D. Miller 6510 North 54<sup>th</sup> Street Tampa, FL 33610-1908 Phone: 800-792-2644 Fax: 813-621-7688

Email: <u>biddept@pyramidsp.com</u> Website: <u>www.pyramidsp.com</u>

Details: Please Reference Madison-Oneida BOCES IFB 23-12-002 on Purchase Order

Email orders to orders@pyramidsp.com

Vendor Delivers To: All Districts

# W.B. Mason

Attention: Andrew Daley 9396 River Road Marcy, NY 13403 Phone: 508-577-8194

Fax: available upon request

Email: Andrew.Daley@wbmason.com

Website: www.wbmason.com

Details: Please Reference Madison-Oneida BOCES IFB 23-12-002 on Purchase Order

Vendor Delivers To: All Districts

Item#	Category	Item Specification	Reference Size	Quantity	Manufacturer	Vendor Item#	Package and Individual Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
11001	Bags	Bags, Paper, Lunch, Brown	6" x 10-1/2"	200	Chef's Supply	CSI6BAG35	6X4X11, 500/BD	\$13.22	Each	500	\$0.0264	W.B. Mason
					DURO	DUO80983	6" X 3 5/8" X 11 1/16" 500/BL	\$13.85	Each	500	\$0.0277	Hill & Markes, LLC
11002	Bags	Bags, Plastic, Clear	Gallon, 12" x 15"	100	ELKAY	ELKF21013	10"X13" CLEAR POLY BAG 2MIL 1000/CS	\$49.33	Each	1000	\$0.0493	Hill & Markes, LLC
					WB Mason	WBMPBR12152	12"X15",2 MIL,1000/CT	\$78.40	Each	1000	\$0.0784	W.B. Mason
					BOARDWALK	3655107	250/CASE	\$21.98	Each	250	\$0.0879	Pyramid School Products
11007	Bags	Bags, Plastic, Freezer	18" x 24"	100	ALUF	FOR152NPH	10X8X24 POLY BAG 500/CS	\$24.98	Each	500	\$0.0500	Hill & Markes, LLC
					Elkay	ELK8G108024	10X8X24 .85MIL	\$36.51	Each	500	\$0.0730	W.B. Mason
11012	Bags	Bags, Sandwich, Wax		65	FISCHER	FIS508	1000/BX	\$16.38	Each	1000	\$0.0164	Hill & Markes, LLC
					Bagcraft	BGC300404BX	1000/CS	\$21.98	Each	1000	\$0.0220	W.B. Mason
11138	Bags	Bags, Plastic, T-Sack, "Thank You"	12" x 7" x 22"	50	Chef's Supply	IBSTHW1VAL	11.5X6.5X21, 900/CT	\$19.77	Each	900	\$0.0220	W.B. Mason
			22		INTEPLAST	DAN16TSHD14	11.5" X 6.5" X 21" 14 MICRON 700/CS	\$24.12	Each	700	\$0.0345	Hill & Markes, LLC
11139	Bags	Bags, Paper, Lunch, White	6" x 10-1/2"	95	Chef's Supply	CSI6BAG35W	6X3.6X11.6, 500/BL	\$17.75	Each	500	\$0.0355	W.B. Mason
					DURO	DUO82512	5-1/4" X 3 7/16" X 10-15/16" 500/BL	\$18.64	Each	500	\$0.0373	Hill & Markes, LLC
11140	Bags	Bags, Plastic clear 4 x 6 or snack size zip top baggie	4" x 6" or snack size	40	FOODHANDLER	ISL0210406	SOLD 1000/CS @ \$9.40/CS (EQUAL TO \$4.70 PER 500 COUNT)	\$9.40	Each	1000	\$0.0094	Hill & Markes, LLC
					WB Mason	WBMPBR462	4"X6",2 MIL,1000/CT	\$18.40	Each	1000	\$0.0184	W.B. Mason
11141	Bags	Bags, Plastic clear 6 x 6 or snack size zip top baggie	6" x 6"	15	ELKAY	ELKF20606	SOLD 1000/CS @ \$16.26/CS (EQUAL TO \$8.13 PER 500 COUNT)	\$16.26	Each	1000	\$0.0163	Hill & Markes, LLC
					WB Mason	WBMPBR662	6"X6",2 MIL,1000/CT	\$25.60	Each	1000	\$0.0256	W.B. Mason
11018	Cups & Lids	Plastic Cold Cup with Lid, Clear, 9 oz	9 oz	75	DART/SOLO	DRTY9 + SLO600TS	9oz CUP AND CLEAR LID WITH X SLOT. 2500/CS	\$151.08	Each	5000	\$0.0302	Hill & Markes, LLC
11019	Cups & Lids	Plastic Cold Cup with Lid, Clear, 10 oz	10 oz	75	DART/SOLO	DRTY10 + SLO600TS		\$194.26	Each	5000	\$0.0389	Hill & Markes, LLC
11021	Cups & Lids	Cups with Lids, Souffle, Plastic Cup and Plastic Lid, Lid Must Fit Cup	1 oz	842	Chef's Supply	CSIPORCUP1C CSIPORLID1C	CSIPORCUP1C - Sold for \$12.51 CSIPORLID1C - Sold for \$9.27	\$21.78	Each	5000	\$0.0044	W.B. Mason
		Must Fit Cup			NP&PC	NPP02011 + NPP02026	1 oz SOUFFLE CUPS AND LIDS, EACH ITEM IS PACKED 2500/CS - CUPS ARE SOLD @ \$17.00/CS AND LIDS ARE SOLD @ \$15.02/CS	\$32.02	Each	5000	\$0.0064	Hill & Markes, LLC
11022	Cups & Lids	Cups with Lids, Souffle, Plastic Cup and Plastic Lid, Lid Must Fit Cup	2 oz	1124	Chef's Supply	CSIPORCUP2C CSIPORLID2C	CSIPORCUP2C - Sold for \$19.95 CSIPORLID2C - Sold for \$17.50	\$37.45	Each	5000	\$0.0075	W.B. Mason
		det. i. Cosp			DART/SOLO	SLOB200 + SLOPL2	20z PLASTIC SOUFFLE CUPS AND LIDS, EACH ITEM IS PACKED 2500/CS; CUPS ARE SOLD @ \$20.94/CS AND LIDS ARE SOLD @ \$18.56/CS	\$39.50	Each	5000	\$0.0079	Hill & Markes, LLC
11023	Cups & Lids	Cups with Lids, Souffle, Plastic Cup and Plastic Lid, Lid Must Fit Cup	4 oz	1206	Chef's Supply	CSIPORCUP4C CSIPORLID3C	CSIPORCUP4C - Sold for \$35.93 CSIPORLID3C - Sold for \$21.64	\$57.57	Each	5000	\$0.0115	W.B. Mason
		Must Fit Cup			DART/SOLO	SLOP400 + SLOPL4	40z PLASTIC SOUFFLE CUPS AND LIDS, EACH ITEM IS PACKED 2500/CS; CUPS ARE SOLD @ \$33.68/CS AND LIDS ARE SOLD @ \$26.26/CS	\$59.94	Each	5000	\$0.0120	Hill & Markes, LLC

Item#	Category	Item Specification	Reference Size	Quantity	Manufacturer	Vendor Item#	Package and Individual Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
11024	Cups & Lids	Cups with Lids, Souffle, Plastic Cup and Plastic Lid, Lid	5 oz	1000	Chef's Supply	CSIPORCUP5C	CSIPORCUP5C - Sold for \$39.92	\$61.56	Each	5000	\$0.0123	W.B. Mason
		Must Fit Cup			NP&PC	CSIPORLID3C NPP02017 + NPP02028	CSIPORLID3C - Sold for \$21.64 50z PLASTIC SOUFFLE CUPS AND LIDS, EACH ITEM IS PACKED 2500/CS; CUPS ARE SOLD @ \$45.42/CS AND LIDS ARE SOLD @ \$26.81/CS	\$72.23	Each	5000	\$0.0144	Hill & Markes, LLC
11025	cups & lids	Cups with Lids, Souffle, Plastic Cup and Plastic Lid, Lid Must Fit Cup	3.25 oz	100	Chef's Supply	CSIPORCUP3C CSIPORLID3C	CSIPORCUP5C - Sold for \$29.95 CSIPORLID3C - Sold for \$21.64	\$51.59	Each	5000	\$0.0103	W.B. Mason
		wast it sup			NP&PC	NPP02015 + NPP02028	3.5oz PLASTIC SOUFFLE CUPS AND LIDS, EACH ITEM IS PACKED 2500/CS; CUPS ARE SOLD @ \$33.99/CS AND LIDS ARE SOLD @ \$26.81/CS	\$60.80	Each	5000	\$0.0122	Hill & Markes, LLC
11027	Cups & Lids	Cups, Paper	8 oz	15	Chef's Supply	CSIHCWHITE8	1000/CT	\$34.25	Each	1000	\$0.0343	W.B. Mason
					HILL & MARKES	HNM49026IFS	8oz, 1000/CS	\$40.89	Each	1000	\$0.0409	Hill & Markes, LLC
					DART	SCC378MS	1000/CASE	\$84.98	Each	1000	\$0.0850	Pyramid School Products
11029	Cups & Lids	Cups, French Fry, Paper	9 oz	20	DART/SOLO	SLOGRS9N00021	9oz, 2000/CS, 2-3 WEEK LEAD TIME	\$121.13	Each	2000	\$0.0606	Hill & Markes, LLC
11030	Cups & Lids	Lid for Smoothie Cups, Flat, Hole for Straw, fits 16oz		20	Chef's Supply	CSIPETLIDFL	1000/CS	\$22.69	Each	1000	\$0.0227	W.B. Mason
		cups			HILL & MARKES	HNMIFS626IFS	FITS 16oz, 1000/CS	\$33.73	Each	1000	\$0.0337	Hill & Markes, LLC
11032	Cups & Lids	Cups, Plastic	5 oz	200	Chef's Supply	CSITRANSCUP5	2500/CT	\$42.32	Each	2500	\$0.0169	W.B. Mason
					FABRIKAL	FABRK5	5oz, 2500/CS	\$44.90	Each	2500	\$0.0180	Hill & Markes, LLC
					BOARDWALK	BWKTRANSCUP5CT	2500/CASE	\$57.99	Each	2500	\$0.0232	Pyramid School Products
11033	Cups & Lids	Cups, Plastic	7 oz	40	Chef's Supply	CSITRANSCUP7	2500/CT	\$51.49	Each	2500	\$0.0206	W.B. Mason
					DART/SOLO	DRTY7	7oz, 2500/CS	\$54.99	Each	2500	\$0.0220	Hill & Markes, LLC
					BOARDWALK	BWKTRANSCUP7CT	2500/CASE	\$58.99	Each	2500	\$0.0236	Pyramid School Products
11037	Cups & Lids	Cups, Souffle, Plastic	2 oz	115	Chef's Supply	CSIPORCUP2C	2500/CS	\$19.96	Each	2500	\$0.0080	W.B. Mason
					DART/SOLO	SLOB200	2oz, 2500/CS	\$20.94	Each	2500	\$0.0084	Hill & Markes, LLC
					BOARDWALK	BWKPRTN2TS	2500/CASE	\$34.99	Each	2500	\$0.0140	Pyramid School Products
11039	Cups & Lids	Cups, Souffle, Plastic	5 oz	150	Chef's Supply	CSIPORCUP5C	5.50Z CLEAR PORTION CUP, 2500/CS	\$39.92	Each	2500	\$0.0160	W.B. Mason
					NP&PC	NPP02017	2500/CS 5.5 oz	\$45.42	Each	2500	\$0.0182	Hill & Markes, LLC
					BOARDWALK	BWKPRTN5TS	2500/CASE 5.5 oz	\$55.98	Each	2500	\$0.0224	Pyramid School Products
11043	Cups & Lids	Lids, Plastic, To Fit 2 oz Souffle Cup	2 oz	200	Chef's Supply	CSIPORLID2C	2500/CS	\$17.50	Each	2500	\$0.0070	W.B. Mason
					DART/SOLO	SLOPL2	FITS 2oz, 2500/CS	\$18.56	Each	2500	\$0.0074	Hill & Markes, LLC
					DART	DCCPL200N	2500/CASE	\$34.98	Each	2500	\$0.0140	Pyramid School Products
11046	Cups & Lids	Lids, Plastic, To Fit 5 oz Souffle Cup	5 oz	240	Chef's Supply	CSIPORLID3C	2500/CS	\$21.64	Each	2500	\$0.0087	W.B. Mason
					NP&PC	NPP02028	FITS 5oz, 2500/CS	\$26.81	Each	2500	\$0.0107	Hill & Markes, LLC
					DART	DCCPL4N	2500/CASE	\$44.99	Each	2500	\$0.0180	Pyramid School Products

Item#	Category	Item Specification	Reference Size	Quantity	Manufacturer	Vendor Item#	Package and Individual Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
11122	Cups & Lids	Cup,Parfait (squat type)	12/14 oz	300	HILL & MARKES	HNMIFSKC12SIFS	12oz, 1000/CS	\$44.34	Each	1000	\$0.0443	Hill & Markes, LLC
					Fabri-Kal	FABKC12S	1000/CS	\$142.37	Each	1000	\$0.1424	W.B. Mason
11123	Cups & Lids	Insert for Parfait cup	4 oz	100	FABRIKAL	FABCI4	4oz, 1000/CS	\$23.98	Each	1000	\$0.0240	Hill & Markes, LLC
					Fabri-Kal	FABC14	1000/CS	\$130.45	Each	1000	\$0.1305	W.B. Mason
11124	Cups & Lids	Lid, for Parfait Cup (squat type)	12/20 oz	100	FABRIKAL	FABLKC1624F	FITS 16 & 24oz, 1000/CS	\$21.77	Each	1000	\$0.0218	Hill & Markes, LLC
					Fabri-Kal	FABDLKC1624NH	1000/CS 16/24oz	\$126.20	Each	1000	\$0.1262	W.B. Mason
11129	Cups & Lids	Cups, Souffle, Plastic	2.5oz	50	DART/SOLO	SLOP250N	2.5oz SOUFFLE, SOLD 2500/CS ONLY @ \$37.25/CS (EQUAL TO \$35.76 PER 2400 COUNT)	\$37.25	Each	2500	\$0.0149	Hill & Markes, LLC
					Dart	DCCP250N	2500/CS	\$39.59	Each	2500	\$0.0158	W.B. Mason
11130	Cups & Lids	Lids, Plastic, to fit 2.5 oz Souffle Cup	2.5 oz	50	DART/SOLO	SLOPL2	2.5oz SOUFFLE LID, SOLD 2500/CS ONLY @ \$18.75/CS (EQUAL TO \$18.00 PER 2400 COUNT)	\$18.75	Each	2500	\$0.0075	Hill & Markes, LLC
					Dart	DCCPL200N	2500/CS	\$25.95	Each	2500	\$0.0104	W.B. Mason
11020	Cups & Lids	Dessert/Parfait Cup, 8oz, Clear	8oz	40	Fabri-Kal	FABDE8	1000/CT	\$142.06	Each	1000	\$0.1421	W.B. Mason
					AMHILL	AMHADC08	8oz, 1000/CS	\$69.88	Each	1000	\$0.0699	Hill & Markes, LLC
11026	Cups & Lids	Lids for Dessert/Parfait Cup - Domed, no hole, fits 8oz cup		20	AMHILL	AMHAMDL626NH	FITS 8oz, 1000/CS	\$37.53	Each	1000	\$0.0375	Hill & Markes, LLC
		оцр			Fabri-Kal	FABDLKC1624NH	1000/CT 16/24oz	\$126.20	Each	1000	\$0.1262	W.B. Mason
11028	Cups & Lids	Smoothie Cup, 16oz, clear,	16oz	20	Chef's Supply	CSIPETCUP16	1000/CS	\$45.42	Each	1000	\$0.0454	W.B. Mason
					HILL & MARKES	HNMIFSKC16TIFS	16oz, 1000/CS	\$50.74	Each	1000	\$0.0507	Hill & Markes, LLC
11048	Miscellaneous	Container, Deli, Clear Plastic, Hinged	8 oz	12	Eatery Essentials	EESRPTTE8	240/CS	\$29.15	Each	240	\$0.1215	W.B. Mason
					GENPAK	GENAD08	8oz, 200/CS	\$30.49	Each	200	\$0.1525	Hill & Markes, LLC
11049	Miscellaneous	Aprons, Plastic, Disposable, Callico Brand Not Acceptable	24" x 42"	17	The Safety Zone	IMPMDP46WI	100/BX (28x46)	\$5.89	Each	100	\$0.0589	W.B. Mason
		Acceptable			FOODHANDLER	ISL250011	24"x42", 100/BX	\$6.52	Each	100	\$0.0652	Hill & Markes, LLC
11052	Miscellaneous	Container, Deli, Clear Plastic, Hinged	16 oz	80	Eatery Essentials	EESRPTTE16N	240/CS	\$32.39	Each	240	\$0.1350	W.B. Mason
					GENPAK	GENAD16	16oz, 200/CS	\$35.43	Each	200	\$0.1772	Hill & Markes, LLC
11056	Miscellaneous	Gloves, Rubber, Yellow	Medium	15	SAFETY ZONE	GRFY-MD	12 PAIR/CASE	\$8.28	Pair	12	\$0.6900	Pyramid School Products
					FOODHANDLER	ISL100502CP	SOLD 12 PAIR/BOX ONLY @ \$9.84/BX (EQUAL TO \$0.82 PER PAIR)	\$9.84	Pair	12	\$0.8200	Hill & Markes, LLC
					Ansell	ANS1988	SOLD AS 12 PAIRS/BOX ONLY, 12/PK FOR \$13.29	\$13.29	Pair	12	\$1.1075	W.B. Mason
11059	Miscellaneous	Hairnets		40	The Safety Zone	IMPMN221440BR	144/BX	\$8.89	Each	144	\$0.0617	W.B. Mason
					KEYSTONE	FDIHN500BR	28", 144/BX	\$11.24	Each	144	\$0.0781	Hill & Markes, LLC
11060	Miscellaneous	Liners, Pan	16-1/2" x 24- 1/2"	225	PAPERCON	PPC030001	16-1/2" X 24-1/2", 1000/CS	\$55.67	Each	1000	\$0.0557	Hill & Markes, LLC
			1/2		Bagcraft	BGC030001	1000/CT	\$61.13	Each	1000	\$0.0611	W.B. Mason

Item#	Category	Item Specification	Reference Size	Quantity	Manufacturer	Vendor Item#	Package and Individual Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
11064	Miscellaneous	Straws, Plastic, Individually Wrapped	5-3/4"	85	NP&PC	NPP420332	5-3/4", 12000/CS	\$43.64	Each	12000	\$0.0036	Hill & Markes, LLC
					Chef's Supply	CSI485WJ5WH	12000/CS	\$56.97	Each	12000	\$0.0047	W.B. Mason
11065	Miscellaneous	Tape, Masking	3/4"	150	3M	206932	48 ROLLS/CASE	\$57.12	Roll	48	\$1.1900	Pyramid School Products
					ЗМ	MMM68707	3/4", 48 RL/CS; SOLD PER ROLL @ \$1.68/RL (EQUAL TO \$80.64 PER CASE OF 48)	\$1.68	Roll	1	\$1.6800	Hill & Markes, LLC
					ЗМ	MMM260018A	48/CT	\$84.99	Roll	48	\$1.7706	W.B. Mason
11125	Miscellaneous	Container, Deli, Clear Plastic, Hinged	5 x 5	100	DART/SOLO	DRTC53HT1	5"x5", 500/CS	\$39.68	Each	500	\$0.0794	Hill & Markes, LLC
					Chef's Supply	CSIPETCTR6X6	500/CS	\$50.84	Each	500	\$0.1017	W.B. Mason
11126	Miscellaneous	Container, Deli, Clear Plastic, Hinged	8 x 8	150	DART/SOLO	DRTC90PST1	8"x8", SOLD 250/CSONLY @ \$39.67/CS (EQUAL TO \$79.34 PER 500 COUNT)	\$39.67	Each	250	\$0.1587	Hill & Markes, LLC
					Dart	DCCC90PST1	250/CT	\$53.98	Each	250	\$0.2159	W.B. Mason
11127	Miscellaneous	Container, Sandwich Wedge Type, Plastic, Hinged	5 x 5	120	COMET	COM21508	6.5"x3.75', 500/CS; 2-3 WEEK LEAD TIME	\$69.28	Each	500	\$0.1386	Hill & Markes, LLC
					Eatery Essentials	EESRPTTESW	250/CT	\$39.71	Each	250	\$0.1588	W.B. Mason
11134	Miscellaneous	Container, Shell, 3-compartment, 9 x 9 x 3 compostable	9 x 9	500	Chef's Supply	CSI9X9BIO3	200/CS	\$37.22	Each	200	\$0.1861	W.B. Mason
					DART/SOLO	SLOHC9SC3PF	9"x9, 3-COMPARTMENT, 200/CS	\$47.99	Each	200	\$0.2400	Hill & Markes, LLC
11135	Miscellaneous	Container, Round, SideKicks	4 oz	150	FABRIKAL	FABFC4B	750/CS	\$36.69	Each	750	\$0.0489	Hill & Markes, LLC
11136	Miscellaneous	Container, Round, SideKicks	8 oz	50	FABRIKAL	FABFC8B	750/CS	\$45.44	Each	750	\$0.0606	Hill & Markes, LLC
11137	Miscellaneous	Box, Pizza Slice, Hinged	9.25" x 9" x 1.69"	15	SQP	SQP9866	9" X 9-5/8" X 1/2", SOLD 200/CS @ \$61.48/CS (EQUAL TO \$122.96 PER 400 COUNT)	\$61.48	Each	200	\$0.3074	Hill & Markes, LLC
					SCT	SCH0719	400/CT	\$133.06	Each	400	\$0.3327	W.B. Mason
11142	Miscellaneous	9 x 9 clear plastic 3 compartment hinged container	9" x 9"	25	GENPAK	GENCLX399CL	9"x9"x3, 3 COMPARTMENT, 150/CS	\$37.54	Each	150	\$0.2503	Hill & Markes, LLC
					Chef's Supply	CSI9X9MFPPH3	150/CT	\$30.29	Each	150	\$0.2019	W.B. Mason
11143	Miscellaneous	Straws, Paper/compostable, Individually Wrapped	5-3/4"	100	CAR	CAR511170	6000/CT	\$61.77	Each	6000	\$0.0103	W.B. Mason
					AARDVARK	ARD61500207	7-3/4" JUMBO WRAPPED PAPER STRAW, 3200/CS	\$95.33	Each	3200	\$0.0298	Hill & Markes, LLC
11068	Napkins & Dispensers	Dispenser For Ft. James 33201 Napkins		15	MORCON	MORNT222	Valay Interfolded Napkin System	\$8.95	Each	1	\$8.9500	Hill & Markes, LLC
	Dispensers				San Jamar	SJMH900BK	EACH	\$20.36	Each	1	\$20.3600	W.B. Mason
11072	Napkins & Dispensers	Napkins, Embossed, Dispenser		170	MORCON	MORD20500	Morcon D20500 Morsoft Tall Fold Dispenser Napkins, 6 in x 13.5 in, White. 20/500/CS	\$34.18	Each	10000	\$0.0034	Hill & Markes, LLC
					Morcon	MORD20500	10000/CT	\$37.00	Each	10000	\$0.0037	W.B. Mason
11073	Napkins & Dispensers	Napkins, For Dispenser, Unbleached, 1-Ply, Natural		400	Morcon	MORD20500	10000/CT	\$37.00	Each	10000	\$0.0037	W.B. Mason
	Dispensers				MORCON	MOR5000VN	Morcon 5000VN Valay Interfold 2- Ply Dispenser Napkin, 8-1/4 Inch L x 6-1/2 Inch W, Paper, Kraft; SOLD 12/500/CS ONLY @ \$31.44/CS (EQUAL TO \$52.40 PER 10000	\$31.44	Each	6000	\$0.0052	Hill & Markes, LLC

Item#	Category	Item Specification	Reference Size	Quantity	Manufacturer	Vendor Item#	Package and Individual Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
11121	Napkins & Dispensers	Napkins, white, 2-ply 100/pk, 30pk/cs	17" x 15"	100	MORCON	MOR3466	17"x15", 3000/CS	\$26.02	Each	3000	\$0.0087	Hill & Markes, LLC
	Disperisors				Morcon	MOR3466	3000/CT	\$31.08	Each	3000	\$0.0104	W.B. Mason
11076	Paper, Foil & Wraps	Foil, Aluminum, Standard, .001 Weight	18" x 500'	100	Chef's Supply	CSIFL18500SD	18X500', EACH	\$18.06	Roll	1	\$18.0600	W.B. Mason
					HILL & MARKES	HNM18500D14	18"X500"	\$21.48	Roll	1	\$21.4800	Hill & Markes, LLC
11078	Paper, Foil & Wraps	Paper, Waxed	12" x 700'	25	PAPERCON	PPC052612	12"x700' ROLL, SOLD 12/ROLLS PER CASE ONLY @ \$214.32/CS (EQUAL TO \$17.86 EACH)	\$214.32	Roll	1	\$214.3200	Hill & Markes, LLC
11083	Paper, Foil & Wraps	Wrap, Film, Cling, Perforated	12" x 12"	50	WESTERN PLASTICS	WES311	12" X 12" PERFORATED FILM 1600/RL	\$14.94	Sheet	1600	\$0.0093	Hill & Markes, LLC
					Western Plastics	WP311	1600 SHTS/RL	\$19.00	Sheet	1600	\$0.0119	W.B. Mason
11085	Paper, Foil & Wraps	Wrap, Film, Plastic	18" x 2000'	226	ANCHOR PACKAGING	ANP7307782	18" X 2000' RL	\$15.28	Roll	1	\$15.2800	Hill & Markes, LLC
					Chef's Supply	IBSFSW1802K	.35 MIL 18X2000', EACH	\$16.06	Roll	1	\$16.0600	W.B. Mason
11086	Paper, Foil & Wraps	Wrap, Foil	10-3/4" x 12"	100	Chef's Supply	CSIFLS1210500	12" X 10 ¾" 200/BOX-12/CS 3000/CS	\$52.59	Sheet	2400	\$0.0219	W.B. Mason
					HILL & MARKES	HNM10661	12"x10.75", SOLD 2400/CS ONLY @ \$66.72/CS (EQUAL TO 83.40 PER 3000 COUNT)	\$66.72	Sheet	2400	\$0.0278	Hill & Markes, LLC
11087	Plates, Bowls & Lids	Boat, Food, Wax-Lined Paper	1#	80	Chef's Supply	CSIPFT100C	1000/CS	\$21.91	Each	1000	\$0.0219	W.B. Mason
					SQP	SQP18701	1000/CS	\$22.83	Each	1000	\$0.0228	Hill & Markes, LLC
11089	Plates, Bowls & Lids	Boat, Nacho		20	DART/SOLO	DRTC56NT2	500/CS	\$68.74	Each	500	\$0.1375	Hill & Markes, LLC
					Great Western	GRE14133	500/CS	\$69.19	Each	500	\$0.1384	W.B. Mason
11093	Plates, Bowls & Lids	Bowls, Squat Soup	12 oz	50	Chef's Supply	CSI12PFCDSB	1000/CS	\$62.63	Each	1000	\$0.0626	W.B. Mason
					HILL & MARKES	HNM11642	12oz, 500/CS	\$41.31	Each	500	\$0.0826	Hill & Markes, LLC
11094	Plates, Bowls & Lids	Bowls, Squat Soup	8 oz	1200	Chef's Supply	CSI8PFCDSB	1000/CS	\$52.10	Each	1000	\$0.0521	W.B. Mason
					HILL & MARKES	HNM11641	8oz, SOLD 500/CS @ \$36.59/CS (EQUAL TO \$73.18 PER 1000 COUNT)	\$36.59	Each	500	\$0.0732	Hill & Markes, LLC
11098	Plates, Bowls & Lids	Plates, Paper	6"	40	Chef's Supply	CSIPLATE6UC	1000/CS	\$11.32	Each	1000	\$0.0113	W.B. Mason
					ASPEN	ASP10106	6", 1000/CS	\$15.12	Each	1000	\$0.0151	Hill & Markes, LLC
11099	Plates, Bowls & Lids	Plates, Paper	9"	20	Chef's Supply	CSIPLATE9UC	1000/CT	\$22.02	Each	1000	\$0.0220	W.B. Mason
					ASPEN	ASP121005	9", SOLD 12/100/CS @ \$28.80/CS (EQUAL TO \$12.00 PER 500	\$28.80	Each	1200	\$0.0240	Hill & Markes, LLC
					AJM	AJMPP9GREWHPK-5	COUNT) 500/CASE	\$19.95	Each	500	\$0.0399	Pyramid School Products
11104	Plates, Bowls & Lids	Platters, Oval, For Light Weight Use, White	7" x 9"	400	Chef's Supply	CSIPLATE10X7BIO	10" OVAL PLATE, 4/125	\$34.37	Each	500	\$0.0687	W.B. Mason
					INDIVIDUAL	INDMF710OVPLT	500/CT 10" X 7.5" OVAL PLATTER, PFAS FREE, 500/CS	\$47.57	Each	500	\$0.0951	Hill & Markes, LLC
11131	Plates, Bowls & Lids	Lids for Squat Soup Bowls	8 oz	1276	HILL & MARKES	HNM11644	8oz, SOLD 500/CS @ \$51.41/CS (EQUAL TO \$102.82 PER 1000	\$51.41	Each	500	\$0.1028	Hill & Markes, LLC
					Chef's Supply	CSI816PFCDOME	COLINT) 1000/CS	\$59.80	Each	1000	\$0.0598	W.B. Mason

Item#	Category	Item Specification	Reference Size	Quantity	Manufacturer	Vendor Item#	Package and Individual Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
11132	Plates, Bowls & Lids	Boat, Food, Wax-Lined Paper	3#	30	Chef's Supply	CSIPFT300C	500/CS	\$21.91	Each	500	\$0.0438	W.B. Mason
					SQP	SQP8703	2/250/CS	\$22.45	Each	500	\$0.0449	Hill & Markes, LLC
11144	Plates, Bowls & Lids	Boat, Food, Waxed/Pasted	6oz	16	Chef's Supply	CSIPFT040C	1000/CS	\$15.68	Each	1000	\$0.0157	W.B. Mason
					SQP	SQP8707	4/250/CS	\$17.89	Each	1000	\$0.0179	Hill & Markes, LLC
11145	Plates, Bowls & Lids	Boat, Food, Waxed/Pasted	1/2lb	9	Chef's Supply	CSIPFT050C	1000/CS	\$18.57	Each	1000	\$0.0186	W.B. Mason
					SQP	SQP8708	4/250/CS	\$19.94	Each	1000	\$0.0199	Hill & Markes, LLC
11146	Plates, Bowls & Lids L	ids for Squat Soup Bowls - Compatable with BOTH 8oz and 12oz - separately packaged	compatable with 8 oz and 12 oz	45	HILL & MARKES	HNM11644	8oz & 12oz, SOLD 500/CS @ \$51.41/CS (EQUAL TO \$102.82 PER 1000 COUNT)	\$51.41	Each	500	\$0.1028	Hill & Markes, LLC
			and 12 02		Chef's Supply	CSI816PFCDOME	1000/CS	\$59.80	Each	1000	\$0.0598	W.B. Mason
11147	Plates, Bowls & Lids	Boat, Food, Waxed/Pasted	2lb (#200)	9	SQP	SQP8702	1000/CS	\$27.61	Each	1000	\$0.0276	Hill & Markes, LLC
					Chef's Supply	CSIPFT200C	1000/CS	\$28.35	Each	1000	\$0.0284	W.B. Mason
11105	Tablecloths	Tablecloth, Paper, White	54" x 108"	10	HOFFMASTER	HOF4108W	54"x108", SOLD 25/CS @ \$47.75/CS (EQUAL TO \$38.20 PER 20 COUNT)	\$47.75	Each	25	\$1.9100	Hill & Markes, LLC
						HFM210130	25/CT	\$53.89	Each	25	\$2.1556	W.B. Mason
11133	Trays	Trays, Compostable, 5 compartments		1500	INDIVIDUAL	INDMF5CSCT	SOLD 400/CS @ \$28.80/CS (EQUAL TO \$36.00 PER 500 COUNT)	\$28.80	Each	400	\$0.0720	Hill & Markes, LLC
					Chef's Supply	CSITRAY5810BIO	240/CS	\$20.50	Each	240	\$0.0854	W.B. Mason
11116	Utensils	Sporks, Kits, Combo Fork/Spoon, Plastic, Medium Weight, With Straw & Napkin In A Plastic Bag		1500	Chef's Supply	CSIMWPPCUTKITSN S	1000/CS	\$13.18	Each	1000	\$0.0132	W.B. Mason
		Weight, Will Graw a Haplan III/C laste Bag			NP&PC	NPP414021	1000/CS	\$16.34	Each	1000	\$0.0163	Hill & Markes, LLC
11117	Utensils	Stirrers, Plastic, Coffee	5"	15	Chef's Supply	CSISTIRRERB5	1000/BX 5.25"	\$1.23	Each	10000	\$0.0001	W.B. Mason
					NP&PC	NPP420124	5", SOLD 10,000/CS @ \$10.80/CS (EQUAL TO \$1.08 PER 1000 COUNT)	\$10.80	Each	10000	\$0.0011	Hill & Markes, LLC
11118	Wipes & Towels	Handi-Wipes	14" x 22"	178	CHICOPEE	CHX8507	24"x11.5", SOLD 200/CS @ \$17.64/CS (EQIUAL TO \$26.46 PER 300 COUNT)	\$17.64	Each	200	\$0.0882	Hill & Markes, LLC
					Legacy	LGC4105	200/CS	\$17.93	Each	200	\$0.0897	W.B. Mason